AR
m <t m m% . )
S 8 . BIRIE| | 5k
L Bl g | o= m nm -
Q' 2 5 S w 82 Z 5|52 1
z s &g Bs S 7=
S = S| 82| =z |3|~¢
e F .| 8% o|E3
g o S| 88 3|50
| 5 |
Slg|®2| |8 g2
3 G
28657965 1767
om.mm 296G 09°¢y
6651965 00°0Y
: 128978563 | 08 &€&
GF.CU PU.CU 2 CC.CF
61669565 ¥ 6Z'8C
& |
HlH+7 Wy £1'65|96'6G| * ™ lzz'1z
69655565 0001
G965 (5565 00700
2965 05°65 0006
09651755 09°%8
8G°65 (G765 0008
1565 0765 1801
£'66[82°68 (2% 0079
18651266 |52 00709
2”% 7083 ‘BY
00'AG [£6'8C u.vu
86'86(€8'85| | . 00707
8
3
SL'85[v5'8S| 8\ | & |o0'CE
metec i T leooz
G7'86(G1'8S 102}
82861085 156 o
S
6085 782G ¢ . 00700 ¥
53 AN
ZI Y 1568
281609°2S N 0008
9.°16(S5°LS 1569
e 1S67'LS 1785
02°26(87'LS 7867
I915(9V1S| |, 0007
5
yo.Srls| B\ [ [606C
V9 2S [17°2S 52 (0002
657G [6E/S S orer
8G°/G[8€°/S 000} o
, o ()
95 7SI7E TS Ko Jm N
AT m ¢ &
RE "
751G |9€7G|E % 0006
GSIS|GE LSz 2 5678
1625077 26|52 0008
2915 (8v°LS 0202
\ 1L°1G(8G°2G 00709
[ 111859'TS SO'ES
08725[L9°25| 28°67
3
88°1G(SL28| [4 0007
\ 9626 (28°S 0008
| 10°86 [98°.S SLvC
\ 0856825 0002
\ €1'85(96°2S 000} o
()
|«
| ¢C'86[€0'8S 0000 +
] 928512088 0576 N
£e'85(e1'8S 00706
8ve5|128s| & 0008
B
§
/ 79851789 0007
[ 7195167 89 mm_ #9
11856585 1919
55
86'86108'30 " © 8905
e 20659885 2 1187
Q DR
= ZES[ENR U7
5 :
8 mmnmm 916G BEe
g 05°65/87°65 00°0¢
< 0O
n = T T
B 6165|8565 1661
r5) =
o 2
2 107093865 = 1500 o
5 S
81°09(81°09) s . 00700 S ¥
5% N
82709[1E093g 6L63
Bz 0007 Y] 8228
, 920956709 0008
\ 91°09/9/09 0002
\ 60°09(90°09 WEL)
20709 [76°6S 1965
1865 (0L'65| \§ 0008
00'65[07'65| 00'0%
076G [LE6S Z8°Te
LV 6G (VT 65 00'0¢
5265|2065 0002
60650685 000} -
00'66/08788| \: B6E o
p6'8G[pL8G| i 00700 ¥
ﬂ. |«
81°35(85°8S 0006
\ boro0 ERB 0009
Nn.nn .n JO%/
§7°8G(60'85| M 05°0Z
S £
: 8685|2286 ¢ S0
£6'85(8185 " 1185
9z8s[118s| N 0008
Z:2¢160°G] C'Z
| C85[50°8S] | . 45
G185(208S| * 000€
Zt 861H0'89 o [PLEE
21850085 Ve
LL'8G 1867/Gl, | | |Ege [000L o
218686726 | |28 [2€ S
\ G1'8G[10'8S s 00700 ¥
o -
v7'9G G0'8S N P 176706
/ 07853285 0008
| 01'8G|GE"8G Y0l
158G [6v'8G| 00°0Z
Il @h..wm E”xm M 009
\\ 1886 (6286 /¢ £6°/S
[ mm”wm :J”xr co_.om
\ 6685|7685 6Ly
€1'65(60°65]s . 0007
A 50'6¢
9865 (1565 0002
2 810} .
8 ) o
OYBSIOERS] (¢ | B [O000 ™
17'65(05°65| /3 | - [CEL6 —
6765|7565 0006
£5'65 0765 0008
S o 15'65[97'65 7069
799+ WY . . _
G565 7765 0009
| | | | | | | | | | | | | . f
3210987654321m.WU 0000
© O O O g B W v W Ip) g 0 W o _.I__L =
‘ c T} L L m
00'000+0 Wy eluemodeldo y81ezood el 2| x =5 |5
= w| O |3 D
m prd - Z = wl O N
3| 2| ¥ 2 EZ S | =
° & 8] & |29 m i
ol S8 A ®
o ¥y o oo O o




